TABELA ROBOT ZIEMNYCH WYKOP

TABELA ROBOT ZIEMNYCH NASYP

Kkm powierz20hnia obje,té)éé :at:{(ecjt\?vsit(;
[m2] (m3] 3]

0+013 17,6 352,00 352,00
0+038 50,6 1340,90 1692,90
0+055 43,6 697,60 2390,50
0+070 64,7 1132,25 3522,75
0+090 15,5 318,84 3841,59
0,00 3841,59

Kkm powierzchnia| objetos¢ :at:{(ecjt\?vsit(;
[m2] [m3] [m3]
0+013 0,00 0,00 0,00
0+038 2,60 68,90 68,90
0+055 5,00 80,00 148,90
0+070 0,60 10,50 159,40
0+090 0,00 0,00 159,40
0,00 159,40

Zdjecie warstwy ziemi urodzajnej gr. do 15cm A=(73*35)+(21*12)*2=3059m2 =~ 458,9m3




